

## Neighborhoods and Partial Sums of Subclass of $k$ -Uniformly Convex Functions and Related Class of $k$ -Starlike Functions with Negative Coefficients Based on Integral Operator

Waggas Galib Atshan

Department of Mathematics, College of Computer Science and Mathematics  
University of Al-Qadisiya  
Diwaniya, Iraq  
E-mail: waggashnd@yahoo.com

S.R. Kulkarni

Department of Mathematics, Fergusson College  
Pune - 411004, India  
E-mail: kulkarni\_ferg@yahoo.com

Received 2 January 2007

Accepted 20 December 2008

Communicated by H.M. Srivastava

**AMS Mathematics Subject Classification (2000):** 30C45

**Abstract.** In this paper, we introduce a class  $k - UCV(\lambda, \gamma, \beta, \delta)$  of analytic univalent functions with negative coefficients. This class is based on an integral operator  $Q_\delta^\beta$  of the function  $f(z)$ . We obtain some neighbourhoods results. Partial sums  $h_m(z)$  of the functions  $f(z)$  in this class are considered. Also we study coefficient bounds, extreme points and radius of close-to-convexity, starlikeness and convexity of this class.

**Keywords:** Uniformly starlike; Uniformly convex; Integral operator; Neighbourhood; Partial sum; Extreme points; Radii of starlikeness; Coefficient bounds.

### 1. Introduction

Let  $S$  be the class of functions of the form:

$$f(z) = z - \sum_{n=2}^{\infty} a_n z^n \quad (a_n \geq 0, n \in \mathbb{N}) \quad (1.1)$$

which are analytic and univalent in the open unit disk  $U = \{z : |z| < 1\}$ . A function  $f \in S$  is said to be in  $k-ST(\gamma)$ , the class of  $k$ -starlike functions of order  $\gamma$ ,  $0 \leq \gamma < 1$ , if  $f$  satisfies the condition

$$\operatorname{Re} \left\{ \frac{zf'(z)}{f(z)} \right\} > k \left| \frac{zf'(z)}{f(z)} - 1 \right| + \gamma, \quad k \geq 0. \quad (1.2)$$

Replacing  $f$  in (1.2) by  $zf'$ , we obtain the condition

$$\operatorname{Re} \left\{ 1 + \frac{zf''(z)}{f'(z)} \right\} > k \left| \frac{zf''(z)}{f'(z)} \right| + \gamma, \quad k \geq 0 \quad (1.3)$$

required for the function  $f$  to be in the subclass  $k-UCV(\gamma)$  of  $k$ -uniformly convex functions of order  $\gamma$ .

Uniformly starlike and convex functions were first introduced by Goodman [5] and then studied by various authors. Recently, the starlikeness and convexity of a certain integral operators have been studied by Raina and Bapna in [11]. Vector-valued analytic functions of multiplication operators were studied in [10]. For the references of this topic, the reader is referred to [12].

**Lemma 1.1.** [2] *Let  $w = u + iv$ . Then*

$$\operatorname{Re} w \geq \alpha \quad \text{if and only if} \quad |w - (1 + \alpha)| \leq |w + (1 - \alpha)|.$$

**Lemma 1.2.** *Let  $w = u + iv$  and  $\alpha, \gamma$  are real numbers. Then*

$$\operatorname{Re} w > \alpha|w - 1| + \gamma \quad \text{if and only if} \quad \operatorname{Re}\{w(1 + \alpha e^{i\theta}) - \alpha e^{i\theta}\} > \gamma.$$

**Definition 1.3.** *Suppose that  $f \in S$  with the form (1.1) and  $g(z) \in S$  is given by  $g(z) = z - \sum_{n=2}^{\infty} b_n z^n, b_n \geq 0$ . Then, we define the Hadamard product (or convolution)  $f * g$  of  $f$  and  $g$  by*

$$(f * g)(z) = z - \sum_{n=2}^{\infty} a_n b_n z^n. \quad (1.4)$$

**Definition 1.4.** *For  $0 \leq \lambda \leq 1, 0 \leq \gamma < 1, k \geq 0, \beta \geq 0$  and  $\delta > -1$ , we let  $k-UCV(\lambda, \gamma, \beta, \delta)$  be the subclass of  $S$  consisting of functions of the form (1.1)*

and satisfying the analytic criterion

$$\begin{aligned} & \operatorname{Re} \left\{ \frac{z(Q_\delta^\beta f(z))' + \lambda z^2(Q_\delta^\beta f(z))''}{(1-\lambda)Q_\delta^\beta f(z) + \lambda z(Q_\delta^\beta f(z))'} \right\} \\ & \geq k \left| \frac{z(Q_\delta^\beta f(z))' + \lambda z^2(Q_\delta^\beta f(z))''}{(1-\lambda)Q_\delta^\beta f(z) + \lambda z(Q_\delta^\beta f(z))'} - 1 \right| + \gamma, \end{aligned} \tag{1.5}$$

where  $Q_\delta^\beta$  is the generalized Jung-Kim-Srivastava integral operator [6] defined by

$$\begin{aligned} Q_\delta^\beta f(z) &= \frac{\Gamma(\beta + \delta + 1)}{z\Gamma(\beta)\Gamma(\delta + 1)} \int_0^z t^{\delta-1} \left(1 - \frac{t}{z}\right)^{\beta-1} f(t) dt, \quad \beta \geq 0, \delta > -1 \\ &= z - \sum_{n=2}^\infty \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n z^n \end{aligned} \tag{1.6}$$

and for  $\beta = 0$ , we have  $Q_\delta^0 f(z) = f(z)$ .

We note that by specializing the parameters  $\lambda, k, \gamma, \beta, \delta$ , we obtain the following different subclasses as studied by various authors:

- (i) If  $k = 0, \beta = 0$ , then the class  $k - UCV(\lambda, \gamma, \beta, \delta)$  reduces to the class  $0 - UCV(\lambda, \gamma, 0, \delta) \equiv P_1(1, \lambda, \gamma)$  was studied by Altintas and Owa [1] also by Kwon and Cho [8], and when  $\beta = 0$  our class reduces to a class was studied by Aqlan [2].
- (ii) If  $\lambda = 0, k = 0$  and  $\beta = 0$ , then the class  $k - UCV(\lambda, \gamma, \beta, \delta)$  reduces to the class  $0 - UCV(0, \gamma, 0, \delta) \equiv S^*(\gamma)$  was studied by Silverman [14].
- (iii) If  $\lambda = 1, k = 0$  and  $\beta = 0$ , then the class  $k - UCV(\lambda, \gamma, \beta, \delta)$  reduces to the class  $0 - UCV(1, \gamma, 0, \delta) \equiv C(\gamma)$  was studied by Silverman [14].
- (iv) If  $\lambda = 0, k = 1$  and  $\beta = 0$ , then the class  $1 - UCV(0, \gamma, 0, \delta) \equiv UST(\gamma)$  was studied by Bharati and et. al. [3].
- (v) If  $\lambda = 0, \beta = 0$  and  $\gamma = 0$ , that is,  $k - ST$  introduced by Kanas and Wiśniowska [7].
- (vi) If  $\lambda = 1, \gamma = 0$  and  $\beta = 0$ , then this is  $k - UCV$  which is introduced and studied by Kanas and Wiśniowska [7].

*Remark 1.5.*  $k - ST \subset k - UCV(\lambda, \gamma, \beta, \delta)$  when  $\lambda = 0, \gamma = 0$  and  $\beta = 0$   
 $k - UCV \subset k - UCV(\lambda, \gamma, \beta, \delta)$  when  $\lambda = 1, \gamma = 0$  and  $\beta = 0$ .

The aim of this paper is to study the coefficient bounds and extreme points of the class  $k - UCV(\lambda, \gamma, \beta, \delta)$ . Furthermore, we obtain certain neighbourhood results for functions in  $k - UCV(\lambda, \gamma, \beta, \delta)$ . Partial sums  $h_m(z)$  of functions  $f(z)$  in the class  $k - UCV(\lambda, \gamma, \beta, \delta)$  are considered. Also we obtain region of univalence of close-to-convexity, starlikeness and convexity.

## 2. Coefficient Bounds and Extreme Points

We give here a necessary and sufficient condition and extreme points for the functions  $f(z)$  in the class  $k-UCV(\lambda, \gamma, \beta, \delta)$ .

**Theorem 2.1.** *The function  $f(z)$  defined by (1.1) is in the class  $k-UCV(\lambda, \gamma, \beta, \delta)$  if and only if*

$$\sum_{n=2}^{\infty} (1 - \lambda + n\lambda)[n(1 + k) - (k + \gamma)] \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n \leq 1 - \gamma \quad (2.1)$$

where  $0 \leq \gamma < 1, k \geq 0, 0 \leq \lambda \leq 1, \beta \geq 0$  and  $\delta > -1$ .

*Proof.* By Definition 1.4, we get

$$\begin{aligned} & \operatorname{Re} \left\{ \frac{z(Q_{\delta}^{\beta} f(z))' + \lambda z^2(Q_{\delta}^{\beta} f(z))''}{(1 - \lambda)Q_{\delta}^{\beta} f(z) + \lambda z(Q_{\delta}^{\beta} f(z))'} \right\} \\ & \geq k \left| \frac{z(Q_{\delta}^{\beta} f(z))' + \lambda z^2(Q_{\delta}^{\beta} f(z))''}{(1 - \lambda)Q_{\delta}^{\beta} f(z) + \lambda z(Q_{\delta}^{\beta} f(z))'} - 1 \right| + \gamma. \end{aligned}$$

Then by Lemma 1.2, we have

$$\operatorname{Re} \left\{ \frac{z(Q_{\delta}^{\beta} f(z))' + \lambda z^2(Q_{\delta}^{\beta} f(z))''}{(1 - \lambda)Q_{\delta}^{\beta} f(z) + \lambda z(Q_{\delta}^{\beta} f(z))'} (1 + ke^{i\theta}) - ke^{i\theta} \right\} \geq \gamma, \quad -\pi < \theta \leq \pi$$

or equivalently

$$\begin{aligned} & \operatorname{Re} \left\{ \frac{(z(Q_{\delta}^{\beta} f(z))' + \lambda z^2(Q_{\delta}^{\beta} f(z))'')(1 + ke^{i\theta})}{(1 - \lambda)Q_{\delta}^{\beta} f(z) + \lambda z(Q_{\delta}^{\beta} f(z))'} \right. \\ & \left. - \frac{ke^{i\theta}((1 - \lambda)Q_{\delta}^{\beta} f(z) + \lambda z(Q_{\delta}^{\beta} f(z))')}{(1 - \lambda)Q_{\delta}^{\beta} f(z) + \lambda z(Q_{\delta}^{\beta} f(z))'} \right\} \geq \gamma. \quad (2.2) \end{aligned}$$

Let

$$F(z) = [z(Q_{\delta}^{\beta} f(z))' + \lambda z^2(Q_{\delta}^{\beta} f(z))''](1 + ke^{i\theta}) - ke^{i\theta}[(1 - \lambda)Q_{\delta}^{\beta} f(z) + \lambda z(Q_{\delta}^{\beta} f(z))'],$$

and

$$E(z) = (1 - \lambda)Q_{\delta}^{\beta} f(z) + \lambda z(Q_{\delta}^{\beta} f(z))'.$$

By Lemma 1.1, (2.2) is equivalent to

$$|F(z) + (1 - \gamma)E(z)| \geq |F(z) - (1 + \gamma)E(z)| \quad \text{for } 0 \leq \gamma < 1.$$

But

$$\begin{aligned}
 & |F(z) + (1 - \gamma)E(z)| \\
 = & \left| \left[ z - \sum_{n=2}^{\infty} n \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n z^n \right. \right. \\
 & \left. \left. - \lambda \sum_{n=2}^{\infty} n(n-1) \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n z^n \right] (1 + ke^{i\theta}) \right. \\
 & \left. - ke^{i\theta} \left[ (1 - \lambda) \left( z - \sum_{n=2}^{\infty} \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n z^n \right) \right. \right. \\
 & \left. \left. + \lambda z - \lambda \sum_{n=2}^{\infty} n \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n z^n \right] \right. \\
 & \left. + (1 - \gamma) \left[ z - \sum_{n=2}^{\infty} (1 - \lambda + n\lambda) \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n z^n \right] \right| \\
 = & \left| (2 - \gamma)z - \sum_{n=2}^{\infty} [(n + \lambda n(n - 1)) + (1 - \gamma)(1 - \lambda + n\lambda)] \right. \\
 & \times \left. \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n z^n \right. \\
 & \left. - ke^{i\theta} \sum_{n=2}^{\infty} [n + \lambda n(n - 1) - (1 - \lambda + \lambda n)] \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n z^n \right| \\
 \geq & (2 - \gamma)|z| - \sum_{n=2}^{\infty} [(n + \lambda n(n - 1)) + (1 - \gamma)(1 - \lambda + \lambda n)] \\
 & \times \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n |z|^n \\
 & - k \sum_{n=2}^{\infty} [n + \lambda n(n - 2) - 1 + \lambda] \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n |z|^n.
 \end{aligned}$$

Also

$$\begin{aligned}
 |F(z) - (1 + \gamma)E(z)| = & \left| \left[ z - \sum_{n=2}^{\infty} n \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n z^n \right. \right. \\
 & \left. \left. - \lambda \sum_{n=2}^{\infty} n(n-1) \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n z^n \right] (1 + ke^{i\theta}) \right. \\
 & \left. - ke^{i\theta} \left[ z - (1 - \lambda) \sum_{n=2}^{\infty} \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n z^n \right. \right. \\
 & \left. \left. - \lambda \sum_{n=2}^{\infty} n \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n z^n \right] \right|
 \end{aligned}$$

$$\begin{aligned}
 & \left| -(1 + \gamma) \left[ z - \sum_{n=2}^{\infty} (1 - \lambda + n\lambda) \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n z^n \right] \right| \\
 = & \left| -\gamma z - \sum_{n=2}^{\infty} [(n + \lambda n(n - 1)) - (1 + \gamma)(1 - \lambda + n\lambda)] \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n z^n \right. \\
 & \left. - k e^{i\theta} \sum_{n=2}^{\infty} [n + n\lambda(n - 1) - (1 - \lambda + n\lambda)] \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n z^n \right| \\
 \leq & \gamma |z| + \sum_{n=2}^{\infty} [(n + n\lambda(n - 1)) - (1 + \gamma)(1 - \lambda + n\lambda)] \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n |z|^n \\
 & + k \sum_{n=2}^{\infty} [n + n\lambda(n - 1) - (1 - \lambda + n\lambda)] \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n |z|^n
 \end{aligned}$$

and so

$$\begin{aligned}
 & |F(z) + (1 - \gamma)E(z)| - |F(z) - (1 + \gamma)E(z)| \geq 2(1 - \gamma)|z| - \\
 & \sum_{n=2}^{\infty} [(2n + 2n\lambda(n - 1) - 2\gamma(1 - \lambda + n\lambda)) - k(2n + 2n\lambda(n - 1) - 2(1 - \lambda + n\lambda))] \\
 & \times \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n |z|^n \geq 0
 \end{aligned}$$

or

$$\begin{aligned}
 & \sum_{n=2}^{\infty} [n(1 + k) + n\lambda(n - 1)(1 + k) - (1 - \lambda + n\lambda)(\gamma + k)] \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n \\
 & \leq (1 - \gamma)
 \end{aligned}$$

This is equivalent to

$$\begin{aligned}
 & \sum_{n=2}^{\infty} (1 - \lambda + n\lambda)[n(1 + k) - (k + \gamma)] \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n \\
 & \leq (1 - \gamma).
 \end{aligned}$$

Conversely, suppose that (2.1) holds. Then we must show

$$\operatorname{Re} \left\{ \frac{[z(Q_\delta^\beta f(z))' + \lambda z^2(Q_\delta^\beta f(z))''](1 + k e^{i\theta}) - k e^{i\theta}[(1 - \lambda)Q_\delta^\beta f(z) + \lambda z(Q_\delta^\beta f(z))']}{(1 - \lambda)Q_\delta^\beta f(z) + \lambda z(Q_\delta^\beta f(z))'} \right\} \geq \gamma.$$

Upon choosing the values of  $z$  on the positive real axis where  $0 \leq z = r < 1$ , the above inequality reduces to

$$\operatorname{Re} \left\{ \frac{(1 - \gamma) - \sum_{n=2}^{\infty} [n(1 + k e^{i\theta})(1 + n\lambda - \lambda)]}{1 - \sum_{n=2}^{\infty} (1 - \lambda + n\lambda) \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n r^{n-1}} \frac{(\gamma + k e^{i\theta})(1 - \lambda + n\lambda) \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n r^{n-1}}{1 - \sum_{n=2}^{\infty} (1 - \lambda + n\lambda) \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} a_n r^{n-1}} \right\} \geq 0.$$

Since  $Re(-e^{i\theta}) \geq -|e^{i\theta}| = -1$ , the above inequality reduces to

$$Re \left\{ \frac{(1-\gamma) - \sum_{n=2}^{\infty} [n(1+k)(1+n\lambda - \lambda)]}{1 - \sum_{n=2}^{\infty} (1-\lambda+n\lambda) \frac{\Gamma(\beta+\delta+1)\Gamma(\delta+n)}{\Gamma(\delta+1)\Gamma(\beta+\delta+n)} a_n r^{n-1}} \right. \\ \left. \frac{(\gamma+k)(1-\lambda+n\lambda) \frac{\Gamma(\beta+\delta+1)\Gamma(\delta+n)}{\Gamma(\delta+1)\Gamma(\beta+\delta+n)} a_n r^{n-1}}{1 - \sum_{n=2}^{\infty} (1-\lambda+n\lambda) \frac{\Gamma(\beta+\delta+1)\Gamma(\delta+n)}{\Gamma(\delta+1)\Gamma(\beta+\delta+n)} a_n r^{n-1}} \right\} \geq 0.$$

Letting  $r \rightarrow 1^-$ , we get desired conclusion. ■

**Corollary 2.2.** *If  $f(z) \in k-UCV(\lambda, \gamma, \beta, \delta)$ , then*

$$a_n \leq \frac{(1-\gamma)\Gamma(\beta+\delta+n)\Gamma(\delta+1)}{(1+n\lambda-\lambda)(n(1+k) - (k+\gamma))\Gamma(\beta+\delta+1)\Gamma(\delta+n)}$$

where  $0 \leq \gamma < 1, k \geq 0, 0 \leq \lambda \leq 1, \beta \geq 0$  and  $\delta > -1$ .

Next we obtain the extreme points for  $k-UCV(\lambda, \gamma, \beta, \delta)$ .

**Theorem 2.3.** *Let  $f_1(z) = z$  and*

$$f_n(z) = z - \frac{(1-\gamma)\Gamma(\beta+\delta+n)\Gamma(\delta+1)}{(1+n\lambda-\lambda)(n(1+k) - (k+\gamma))\Gamma(\beta+\delta+1)\Gamma(\delta+n)} z^n$$

where  $(n \geq 2, n \in \mathbb{N}, 0 \leq \gamma < 1, k \geq 0, 0 \leq \lambda \leq 1, \beta \geq 0, \delta > -1)$ . Then  $f(z)$  is in the class  $k-UCV(\lambda, \gamma, \beta, \delta)$  if and only if it can be expressed in the form

$$f(z) = \sum_{n=1}^{\infty} \sigma_n f_n(z)$$

where  $(\sigma_n \geq 0$  and  $\sum_{n=1}^{\infty} \sigma_n = 1$  or  $1 = \sigma_1 + \sum_{n=2}^{\infty} \sigma_n)$ .

*Proof.* Let  $f(z) = \sum_{n=1}^{\infty} \sigma_n f_n(z)$  where  $(\sigma_n \geq 0$  and  $\sum_{n=1}^{\infty} \sigma_n = 1)$ . Then,

$$f(z) = z - \sum_{n=2}^{\infty} \frac{(1-\gamma)\Gamma(\delta+1)\Gamma(\beta+\delta+n)}{(1+n\lambda-\lambda)(n(1+k) - (k+\gamma))\Gamma(\beta+\delta+1)\Gamma(\delta+n)} \sigma_n z^n$$

and we get

$$\begin{aligned} & \sum_{n=2}^{\infty} \left( \frac{(1+n\lambda-\lambda)(n(1+k)-(k+\gamma))\Gamma(\beta+\delta+1)\Gamma(\delta+n)}{(1-\gamma)\Gamma(\delta+1)\Gamma(\beta+\delta+n)} \right) \times \\ & \times \sigma_n \frac{(1-\gamma)\Gamma(\delta+1)\Gamma(\beta+\delta+n)}{(1+n\lambda-\lambda)(n(1+k)-(k+\gamma))\Gamma(\beta+\delta+1)\Gamma(\delta+n)} \\ & = \sum_{n=2}^{\infty} \sigma_n = 1 - \sigma_1 \leq 1 \quad (\text{by Theorem 2.1}) \end{aligned}$$

By virtue of Theorem 2.1, we can show that  $f(z) \in k-UCV(\lambda, \gamma, \beta, \delta)$ .

Conversely, assume that  $f(z)$  of the form (1.1) belongs to  $k-UCV(\lambda, \gamma, \beta, \delta)$ . Then

$$a_n \leq \frac{(1-\gamma)\Gamma(\delta+1)\Gamma(\beta+\delta+n)}{(1+n\lambda-\lambda)(n(1+k)-(k+\gamma))\Gamma(\beta+\delta+1)\Gamma(\delta+n)}, \quad (n \in \mathbb{N}, n \geq 2).$$

Setting

$$\sigma_n = \frac{(1+n\lambda-\lambda)(n(1+k)-(k+\gamma))\Gamma(\beta+\delta+1)\Gamma(\delta+n)}{(1-\gamma)\Gamma(\delta+1)\Gamma(\beta+\delta+n)} a_n$$

and

$$\sigma_1 = 1 - \sum_{n=2}^{\infty} \sigma_n.$$

we obtain

$$f(z) = \sum_{n=1}^{\infty} \sigma_n f_n(z) = \sigma_1 f_1(z) + \sum_{n=2}^{\infty} \sigma_n f_n(z).$$

This completes the proof.  $\blacksquare$

### 3. Neighbourhoods and Partial Sums

We now extend the familiar concept of neighbourhoods of analytic functions for the family  $k-UCV(\lambda, \gamma, \beta, \delta)$ . The concept of neighbourhood analytic function was first introduced by Goodman [4]. Later, Ruscheweyh [13] investigated this concept for the elements of several famous subclasses of analytic functions and Altintas and Owa [1] considered for a certain family of analytic functions with negative coefficients, also Liu and Srivastava [9] extended this concept to a certain subclass of meromorphically multivalent functions.

**Definition 3.1.** Let  $k \geq 0, 0 \leq \gamma < 1, 0 \leq \lambda \leq 1, \beta \geq 0, \delta > -1, \alpha \geq 0$ . We define the  $\alpha$ -neighbourhood of a function  $f \in S$  and denote by  $N_\alpha(f)$  consisting of all functions  $g(z) = z - \sum_{n=2}^{\infty} b_n z^n \in S$  satisfying

$$\sum_{n=2}^{\infty} \frac{(1+n\lambda-\lambda)(n(1+k)-(k-\gamma))\Gamma(\beta+\delta+1)\Gamma(\delta+n)}{(1-\gamma)\Gamma(\delta+1)\Gamma(\beta+\delta+n)} |a_n - b_n| \leq \alpha.$$



**Theorem 3.2.** Let  $f \in k-UCV(\lambda, \gamma, \beta, \delta)$  and for all real  $\theta$  we have  $\gamma(e^{i\theta} - 1) - 2e^{i\theta} \neq 0$ . For any complex number  $\mu$  with  $|\mu| < \alpha$  ( $0 \leq \alpha$ ), if  $f$  satisfies the following condition:

$$\frac{f(z) + \mu z}{1 + \mu} \in k-UCV(\lambda, \gamma, \beta, \delta),$$

then  $N_\alpha(f) \subset k-UCV(\lambda, \gamma, \beta, \delta)$ .

*Proof.* It is obvious that  $f \in UCV(\lambda, \gamma, \beta, \delta)$  if and only if

$$\left| \frac{(z(Q_\delta^\beta f(z))' + \lambda z^2(Q_\delta^\beta f(z))''(1 + ke^{i\theta}) - (ke^{i\theta} + 1 + \gamma)((1 - \lambda)Q_\delta^\beta f(z) + \lambda z(Q_\delta^\beta f(z))'))}{(z(Q_\delta^\beta f(z))' + \lambda z^2(Q_\delta^\beta f(z))''(1 + ke^{i\theta}) + (1 - ke^{i\theta} - \gamma)((1 - \lambda)Q_\delta^\beta f(z) + \lambda z(Q_\delta^\beta f(z))'))} \right| < 1 \quad -\pi < \theta < \pi$$

for any complex number  $\eta$  with  $|\eta| = 1$ , we have

$$\frac{(z(Q_\delta^\beta f(z))' + \lambda z^2(Q_\delta^\beta f(z))''(1 + ke^{i\theta}) - (ke^{i\theta} + 1 + \gamma)((1 - \lambda)Q_\delta^\beta f(z) + \lambda z(Q_\delta^\beta f(z))'))}{(z(Q_\delta^\beta f(z))' + \lambda z^2(Q_\delta^\beta f(z))''(1 + ke^{i\theta}) + (1 - ke^{i\theta} - \gamma)((1 - \lambda)Q_\delta^\beta f(z) + \lambda z(Q_\delta^\beta f(z))'))} \neq \eta.$$

In other words, we must have

$$(1 - \eta)((z(Q_\delta^\beta f(z))' + \lambda z^2(Q_\delta^\beta f(z))''(1 + ke^{i\theta})) - [ke^{i\theta} + 1 + \gamma + \eta(ke^{i\theta} - 1 - \gamma)]((1 - \lambda)Q_\delta^\beta f(z) + \lambda z(Q_\delta^\beta f(z))')) \neq 0$$

which is equivalent to

$$z - \sum_{n=2}^{\infty} \frac{(n-1)(1 + ke^{i\theta} - \eta ke^{i\theta}) - \eta(n+1) - \gamma(1-\eta)}{\gamma(\eta-1) - 2\eta} \left[ \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} \right] \times (1 + n\lambda - \lambda)z^n \neq 0$$

However,  $f \in k-UCV(\lambda, \gamma, \beta, \delta)$  if and only if  $\frac{(f * \phi)(z)}{z} \neq 0, z \in U - \{0\}$  where  $\phi(z) = z - \sum_{n=2}^{\infty} e_n z^n$ , and

$$e_n = \frac{(n-1)(1 + ke^{i\theta} - \eta ke^{i\theta}) - \eta(n+1) - \gamma(1-\eta)}{\gamma(\eta-1) - 2\eta} \left[ \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} \right] \times (1 + n\lambda - \lambda)$$

we note that

$$|e_n| \leq \frac{n(1+k) - (k-\gamma)}{(1-\gamma)} (1 + n\lambda - \lambda) \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)}$$

since  $\frac{f(z) + \mu z}{1 + \mu} \in k-UCV(\lambda, \gamma, \beta, \delta)$ , therefore  $z^{-1} \left( \frac{f(z) + \mu z}{1 + \mu} * \phi(z) \right) \neq 0$ , which is equivalent to

$$\frac{(f * \phi)(z)}{(1 + \mu)z} + \frac{\mu}{1 + \mu} \neq 0. \tag{3.1}$$

Now suppose that  $\left| \frac{(f * \phi)(z)}{z} \right| < \alpha$ . Then by (3.1), we must have

$$\left| \frac{(f * \phi)(z)}{z(1 + \mu)} + \frac{\mu}{1 + \mu} \right| \geq \frac{|\mu|}{|1 + \mu|} - \frac{1}{|1 + \mu|} \left| \frac{(f * \phi)(z)}{z} \right| > \frac{|\mu| - \alpha}{|1 + \mu|} \geq 0,$$

this is a contradiction by  $|\mu| < \alpha$  and however we have  $\left| \frac{(f * \phi)(z)}{z} \right| \geq \alpha$ . If

$g(z) = z - \sum_{n=2}^{\infty} b_n z^n \in N_{\alpha}(f)$ , then

$$\begin{aligned} \alpha - \left| \frac{(g * \phi)(z)}{z} \right| &\leq \left| \frac{((f - g) * \phi)(z)}{z} \right| \leq \sum_{n=2}^{\infty} |a_n - b_n| |e_n| |z^n| \\ &< \sum_{n=2}^{\infty} \frac{n(1 + k) - (k - \gamma)}{(1 - \gamma)} |a_n - b_n| (1 + n\lambda - \lambda) \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} \leq \alpha. \end{aligned}$$

We now conclude that  $\frac{(g * \phi)(z)}{z} \neq 0$ , which implies that  $g \in UCV(\lambda, \gamma, \beta, \delta)$ . ■

**Theorem 3.3.** Let  $f \in S$  be given by (1.1). Define  $h_1(z) = z, h_m(z) = z - \sum_{n=2}^m a_n z^n, m = 2, 3, \dots$ , also suppose that  $\sum_{n=2}^{\infty} c_n a_n \leq 1$ , where

$$c_n = \frac{(1 + n\lambda - \lambda)(n(1 + k) - (k - \gamma))\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{(1 - \gamma)\Gamma(\delta + 1)\Gamma(\beta + \delta + n)}.$$

Then

- (i)  $f \in k - UCV(\lambda, \gamma, \beta, \delta)$
- (ii)  $1 - \frac{1}{c_{m+1}} < \operatorname{Re} \left\{ \frac{f(z)}{h_m(z)} \right\} < 1 + \frac{1}{c_{m+1}}, \operatorname{Re} \left\{ \frac{h_m(z)}{f(z)} \right\} > \frac{c_{m+1}}{1 + c_{m+1}}, z \in U,$   
 $m = 2, 3, \dots$

*Proof.* (i) Since  $\frac{z + \mu z}{1 + \mu} = z \in k - UCV(\lambda, \gamma, \beta, \delta), |\mu| < 1$ , by Theorem 3.2, we have  $N_1(z) \subset k - UCV(\lambda, \gamma, \beta, \delta)$  ( $N_1(z)$  denoting the 1-neighbourhood). Now since  $\sum_{n=2}^{\infty} c_n a_n \leq 1, f \in N_1(z)$  and  $f \in k - UCV(\lambda, \gamma, \beta, \delta)$ .

(ii) We have

$$c_n = \left[ \frac{(n - 1)(1 + k) + 2\gamma}{1 - \gamma} + 1 \right] (1 + n\lambda - \lambda) \frac{\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{\Gamma(\delta + 1)\Gamma(\beta + \delta + n)},$$

also  $\{c_n\}$  is an increasing sequence. So we obtain

$$\sum_{n=2}^m a_n + c_{m+1} \sum_{n=m+1}^{\infty} a_n \leq 1. \tag{3.2}$$

Now by introducing  $G_1(z)$  given by  $G_1(z) = c_{m+1} \left[ \frac{f(z)}{h_m(z)} - \left( 1 - \frac{1}{c_{m+1}} \right) \right]$  and making use of (3.2), we get

$$\left| \frac{G_1(z) - 1}{G_1(z) + 1} \right| = \left| \frac{-c_{m+1} \sum_{n=m+1}^{\infty} a_n z^n}{2 - c_{m+1} \sum_{n=m+1}^{\infty} a_n z^n} \right| < \frac{c_{m+1} \sum_{n=m+1}^{\infty} a_n}{2 - c_{m+1} \sum_{n=m+1}^{\infty} a_n - \sum_{n=1}^m a_n} < 1.$$

Therefore  $Re G_1(z) > 0$  and we obtain  $Re \left\{ \frac{f(z)}{h_m(z)} \right\} > 1 - \frac{1}{c_{m+1}}$ . Now let

$$G_2(z) = c_{m+1} \left[ \frac{f(z)}{h_m(z)} - \left( 1 + \frac{1}{c_{m+1}} \right) \right],$$

then we have

$$\left| \frac{G_2(z) + 1}{G_2(z) - 1} \right| = \left| \frac{-c_{m+1} \sum_{n=m+1}^{\infty} a_n z^n}{-c_{m+1} \sum_{n=m+1}^{\infty} a_n z^n - 2} \right| < \frac{c_{m+1} \sum_{n=m+1}^{\infty} a_n}{2 - c_{m+1} \sum_{n=m+1}^{\infty} a_n - \sum_{n=1}^m a_n} < 1.$$

Therefore  $Re G_2(z) < 0$  and we get  $Re \left\{ \frac{f(z)}{h_m(z)} \right\} < 1 + \frac{1}{c_{m+1}}$ . For the second inequality, we define

$$F(z) = (1 + c_{m+1}) \left[ \frac{h_m(z)}{f(z)} - \frac{c_{m+1}}{1 + c_{m+1}} \right],$$

then by using (3.2), we obtain

$$\begin{aligned} \left| \frac{F(z) - 1}{F(z) + 1} \right| &= \left| \frac{(1 + c_{m+1})(h_m(z) - f(z))}{(1 + c_{m+1})h_m(z) - (c_{m+1} - 1)f(z)} \right| \\ &= \left| \frac{(1 + c_{m+1}) \sum_{n=m+1}^{\infty} a_n z^{n-1}}{2 + (c_{m+1} - 1) \sum_{n=m+1}^{\infty} a_n z^{n-1} - 2 \sum_{n=2}^m a_n z^{n-1}} \right| \\ &\leq \frac{(1 + c_{m+1}) \sum_{n=m+1}^{\infty} a_n}{2 - 2 \sum_{n=2}^m a_n + (1 - c_{m+1}) \sum_{n=m+1}^{\infty} a_n} \leq 1. \end{aligned}$$

This shows that  $Re F(z) > 0$  and finally  $Re \left\{ \frac{h_m(z)}{f(z)} \right\} > \frac{c_{m+1}}{1 + c_{m+1}}$  ■

#### 4. Radius of Close-to-convexity, Starlikeness and Convexity

We concentrate upon getting the radius of close-to-convexity, starlikeness and convexity.

**Theorem 4.1.** *Let the function  $f(z)$  defined by (1.1) be in the class  $k - UCV(\lambda, \gamma, \beta, \delta)$ . Then  $f(z)$  is close-to-convex of order  $\mathcal{E}$  ( $0 \leq \mathcal{E} < 1$ ) in  $|z| < r_1(\lambda, \gamma, k, \beta, \delta, \mathcal{E})$  where*

$$r_1(\lambda, \gamma, k, \beta, \delta, \mathcal{E}) = \inf_{n \geq 2} \left\{ \frac{(1 - \mathcal{E})(1 + n\lambda - \lambda)(n(1 + k) - (k + \gamma))\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{n(1 - \gamma)\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} \right\}^{\frac{1}{n-1}}, \quad (4.1)$$

*Proof.* We must show that  $|f'(z) - 1| \leq 1 - \mathcal{E}$  for  $|z| < r_1(\lambda, \gamma, k, \beta, \delta, \mathcal{E})$ . we have

$$|f'(z) - 1| \leq \sum_{n=2}^{\infty} na_n |z|^{n-1}.$$

Thus  $|f'(z) - 1| \leq 1 - \mathcal{E}$  if

$$\sum_{n=2}^{\infty} \left( \frac{n}{1 - \mathcal{E}} \right) a_n |z|^{n-1} \leq 1. \quad (4.2)$$

By Theorem 2.1, we have

$$\sum_{n=2}^{\infty} \frac{(1 + n\lambda - \lambda)(n(1 + k) - (k + \gamma))\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{(1 - \gamma)\Gamma(\beta + \delta + n)\Gamma(\delta + 1)} a_n \leq 1. \quad (4.3)$$

Hence (4.2) will be true if

$$\frac{n|z|^{n-1}}{1 - \mathcal{E}} \leq \frac{(1 + n\lambda - \lambda)(n(1 + k) - (k + \gamma))\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{(1 - \gamma)\Gamma(\delta + 1)\Gamma(\beta + \delta + n)}$$

equivalently if

$$|z| \leq \left\{ \frac{(1 - \mathcal{E})(1 + n\lambda - \lambda)(n(1 + k) - (k + \gamma))\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{n(1 - \gamma)\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} \right\}^{\frac{1}{n-1}}, \quad n \geq 2. \quad (4.4)$$

■

The theorem follows from (4.4).

**Theorem 4.2.** Let  $f(z)$  defined by (1.1) be in the class  $k$ -UCV( $\lambda, \gamma, \beta, \delta$ ). Then  $f(z)$  is starlike of order  $\mathcal{E}$  ( $0 \leq \mathcal{E} < 1$ ) in  $|z| < r_2(\lambda, \gamma, k, \beta, \delta, \mathcal{E})$ , where

$$r_2(\lambda, \gamma, k, \beta, \delta, \mathcal{E}) = \inf_n \left\{ \frac{(1 - \mathcal{E})(1 + n\lambda - \lambda)(n(1 + k) - (k + \gamma))\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{(n - \mathcal{E})(1 - \gamma)\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} \right\}^{\frac{1}{n-1}}, \quad n \geq 2. \tag{4.5}$$

*Proof.* It suffices to show that  $\left| \frac{zf'(z)}{f(z)} - 1 \right| \leq 1 - \mathcal{E}$  for  $|z| < r_2(\lambda, \gamma, k, \beta, \delta, \mathcal{E})$ . We have

$$\left| \frac{zf'(z)}{f(z)} - 1 \right| \leq \frac{\sum_{n=2}^{\infty} (n - 1)a_n |z|^{n-1}}{1 - \sum_{n=2}^{\infty} a_n |z|^{n-1}}.$$

Thus

$$\left| \frac{zf'(z)}{f(z)} - 1 \right| \leq 1 - \mathcal{E} \quad \text{if} \quad \sum_{n=2}^{\infty} \frac{(n - \mathcal{E})a_n |z|^{n-1}}{(1 - \mathcal{E})} \leq 1 \tag{4.6}$$

by using (4.3), (4.6) will be true if

$$\frac{n - \mathcal{E}}{1 - \mathcal{E}} |z|^{n-1} \leq \frac{(1 + n\lambda - \lambda)(n(1 + k) - (k + \gamma))\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{(1 - \gamma)\Gamma(\delta + 1)\Gamma(\beta + \delta + n)}$$

or equivalently

$$|z| \leq \left\{ \frac{(1 - \mathcal{E})(1 + n\lambda - \lambda)(n(1 + k) - (k + \gamma))\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{(n - \mathcal{E})(1 - \gamma)\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} \right\}^{\frac{1}{n-1}}, \quad n \geq 2. \quad \blacksquare$$

The theorem follows easily from last expression.

**Theorem 4.3.** Let  $f$  be in  $k$ -UCV( $\lambda, \gamma, \beta, \delta$ ), then  $f(z)$  is convex of order  $\mathcal{E}$  for  $0 \leq \mathcal{E} < 1$  in  $|z| < r_3(\lambda, \gamma, k, \beta, \delta, \mathcal{E})$ , where

$$r_3(\lambda, \gamma, k, \beta, \delta, \mathcal{E}) = \inf_{n \geq 2} \left\{ \frac{(1 - \mathcal{E})(1 + n\lambda - \lambda)[n(1 + k) - (k + \gamma)]\Gamma(\beta + \delta + 1)\Gamma(\delta + n)}{n(n - \mathcal{E})(1 - \gamma)\Gamma(\delta + 1)\Gamma(\beta + \delta + n)} \right\}^{\frac{1}{n-1}}.$$

*Proof.* To establish the required result, it suffices to show that

$$\left| \frac{zf''(z)}{f'(z)} \right| < 1 - \mathcal{E} \quad \text{for} \quad |z| < r_3 \tag{4.7}$$

Substituting the series expansions of  $f''(z)$  and  $f'(z)$  in the left hand of (4.7), we have

$$\left| \frac{-\sum_{n=2}^{\infty} n(n-1)a_n z^{n-1}}{1 - \sum_{n=2}^{\infty} na_n z^{n-1}} \right| \leq \frac{\sum_{n=2}^{\infty} n(n-1)a_n |z|^{n-1}}{1 - \sum_{n=2}^{\infty} na_n |z|^{n-1}}.$$

The last expression above is bounded by  $(1 - \mathcal{E})$  if

$$\sum_{n=2}^{\infty} \frac{n(n-\mathcal{E})}{1-\mathcal{E}} a_n |z|^{n-1} \leq 1. \quad (4.8)$$

In view of (4.7), it follows that (4.8) is true if

$$\frac{n(n-\mathcal{E})}{1-\mathcal{E}} |z|^{n-1} < \left( \frac{(1+n\lambda-\lambda)(n(1+k)-(k+\gamma))\Gamma(\beta+\delta+1)\Gamma(\delta+n)}{(1-\gamma)\Gamma(\delta+1)\Gamma(\beta+\delta+n)} \right)$$

or

$$|z| < \left\{ \frac{(1-\mathcal{E})(1+n\lambda-\lambda)(n(1+k)-(k+\gamma))\Gamma(\beta+\delta+1)\Gamma(\delta+n)}{n(n-\mathcal{E})(1-\gamma)\Gamma(\beta+\delta+n)\Gamma(\delta+1)} \right\}^{\frac{1}{n-1}}$$

and this completes the proof.  $\blacksquare$

**Acknowledgement.** The first author, Waggas Galib Atshan is thankful of his wife (Hnd Hekmat Abdulah) for her support in his work.

## References

- [1] O. Altintas, S. Owa, Neighbourhood of certain analytic function with negative coefficients, *Int. J. Math. Sci.* **19** (1996) 797–800.
- [2] E.S. Aqlan, Some problems connected with geometric function theory, Ph.D. Thesis (2004), Pune University, Pune (unpublished).
- [3] R. Bharati, R. Parvatham, A. Swaminathan, On subclasses of uniformly convex functions and corresponding class of starlike functions, *Tamkang J. Math.* **28** (1) (1997) 17–32.
- [4] A.W. Goodman, Univalent function with analytic curves, *Proc. Amer. Math. Soc.* **8** (1957) 598–601.
- [5] A.W. Goodman, On uniformly starlike functions, *J. Math. Anal. Appl.* **155** (1991) 364–370.
- [6] I.B. Jung, Y C. Kim, H.M. Srivastava, The Hardy space of analytic functions associated with certain one-parameter families of integral operators, *J. Math. Anal. Appl.* **176** (1993) 138–197.
- [7] S. Kanas, A. Wiśniowska, Conic regions and  $k$ -uniform convexity, *J. Comp. Appl. Math.* **105** (1999) 327–336.
- [8] O.S. Kwon, N.E. Cho, Generalizations of Hadamard products of certain analytic functions, *Math. Sci. RES, HOT-LINE* **2** (3) (1998) 1–8.
- [9] J. Liu, H.M. Srivastava, A linear operator and associated families of meromorphically multivalent functions, *J. Math. Anal. Appl.* **259** (2001) 566–581.

- [10] J.S. Manhas, Multiplication operators on weighted locally convex spaces of vector-valued analytic functions, *Southeast Asian Bull. Math.* **27** (4) (2003) 649–660.
- [11] R.K. Raina, I.B. Bapna, On the starlikeness and convexity of a certain integral operator, *Southeast Asian Bull. Math.* **33** (1) (2009) 101–108.
- [12] F. Rønning, A survey on uniformly convex and uniformly starlike function, *Ann. Univ. Mariae Curie-Sklodowska* **47** (13) (1993) 123–134.
- [13] S. Ruscheweyh, Neighbourhoods of univalent functions, *Proc. Amer. Math. Soc.* **81** (1981) 521–527.
- [14] H. Silverman, Univalent functions with negative coefficients, *Proc. Amer. Math. Soc.* **51** (1975) 109–116.